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Dependency  preservation
Setting lossless decomposition is necessary. But of course. we also want to keep dependencies. since losing a dependency  means that the corresponding constraint can be check only  of the appropriate resultant relation in the decomposition. This would be very expensive, so our aim is to get a lossless dependency preserving decomposition.
R=(A,B,C), F={A→B, B→C}

Example
Does this decomposition preserve the given dependencies?

Decomposition of R: R1=(A. C) R2=(B, C)

  Solution
In R1 the following dependencies hold. F1 ’=  AT  A. →CDC, →4G€“. A€“fi A€”t In R2 the following  dependencies hold: 

  F2 =  { B   B→ C’GC’, B   C→  BC    BC’)   The set  of trivial dependencies hold on R I and R2. F'→ BE C. →4D C }
AT B can not be derived from F’. so this decomposition is NOT dependency preserving.

Example 2
R=(A,B,C),F={A→B, B→C}

       Decomposition of R: R l=(A, B) R2=(B. C)

     Does this decomposition preserve the given dependencies?

    Solution
   In R I the following dependencies hold:
 F I ={ABB, AGA, BAB, ABC AB)

 In R I the following dependencies  hold.

 F2= {BAB, C DC, BMC, BCD BC ) 
F’= F1’ u F2’ = )ADB, BBC  dependencies 
In F’ all the original  dependencies occur, so  this  decomposition preserves dependencies.










